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Q. Paper : II (Objective Type) PAPER CODE = 7465 ()}u"‘)/" ) 11 - 24y
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

How many bones make our vertebral column - /1 8[’«. /K s e bk u;// 11
26 (D) 24 (C) 22 (B) 20 (A)
Which one is the reservoir of free gaseous nitrogen : ; e 023 K Pakl T L L of < S ul|2
Water d& (D) Atmosphere (& (C) Consumers )/43'/"/ (B) Producers J43s7 (A)
In which one histone protein is present : : [}.n uﬁ::{ LAV J/ o -3
Centrosomess4” (D) Chromosomes /mf (C) RNA oI 1,7 (B) DNA !¢/l 5(A)
The concave side of kidney which faces vertebral column : 4"_(3!17;’ ~ 8%4/’&/ ({J ;:‘/»? é/ /-""‘Jc.)/ 4
is called : ,
Renal pelvis Jz‘éﬁ/ (D) Renal medulla U:fyﬁj (C) Renal cortex JQKJ@ (B) Hilus Lft' L (A)
Which one is source of variations : tg. ZAK =1 L of e S
Mutation gfi’;j (D)  Translation ¢ c ’/‘ (C) Transcription ﬁ}' v (B)  Guttation u}:;f” (A)
Which one drug weakens the short term memory in human : : ‘ag}/;:ﬂﬁbc«:.’;b}'ﬁéb:dufufuui 6
Psilocin (/71 (D)  Codeine c[ﬂ/ (C)  Morphine cfgjt (B) Marijuana b'}?d/(}ijuéfb (A)
Which one part of brain is present on the top of medulla : t ‘Lt’mﬁrgﬂéﬂﬁyy Lot Kél.;c,ui' J7
Thalamus u’:&? (D) Cerebrum ¢z = (C) Pons 7| (B) Mid brain ¢/ £ 4 (A)
After fertilization in plants the seed develops from : : e U e gf Gl ﬁ/’ﬂ;‘/ VADIAL:
Ovary (53! (D) Ovule Jyss! (C) Sepals /4~ (B) Petals /% (A)
In which one group, external fertilizétion takes place : e &w ﬁ/’ﬂ:’/ JP-(! el ._:.df J/ e U9
In mammals (4*¢ (D)  In birds JHUsy (C)  Inrepiles u:)flgu (B) Infishes Xusé (A)
Interferons were first time produced in : Lem G 2p o 232 #1110
1980 (D) 1978 (C) 1976 (B) 1974 (A)
Which one of these is a muscular structure present below : ‘aénu?ré;ﬁ Usiales l//:c‘vﬁu'u:g;uf o1
the lungs :
Diaphragm (1}515 (D) Alveoli 81}4;&! (C)  Voicebox =sJ7 (B) Trachea .L;..(/' (A)
Which one ecologist developed the concept of %! oy /’2’?& J?}’}g 4. M)’)g f J/ e L ul12
ecological pyramids :
Lamarck 4Y (D) Darwin /2,15 (C) Charles Elton ﬂ'ujzﬁg (B)  Mendel Ji» (A)
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10 2. Write short answers to any Five (5) questions : : g AT 4 /"" L = Uy (5) (‘;g i J/ -2
(i) Describe structure and function of alveolus. -g‘;f Uk J"’ sl =3 J u’fgj;.l:t (i)
(i) Write symptoms of asthma. -é ;/7 =ik d/ -~ (i)
(iii) Eeslct:rl;ibe two harmful effects of smoking on human _“éu.t_f..:J/&k._.w:LbJ_ T{J(}L»'L._f(/ (i)
(iv) V(\eI:at 'is meant by homeostasis? S i1y V< u"'f’ 2y (iv)
(v) Define osmosis. _“é uy/j' d/ JF (V)
(vi) What is meant by receptors? n S sl l,;( &< J /":’{'/ (vi)
(vii) Briefly describe structure and function of motor neurons. -Né O] f/}"f S sl J gk 2 (Vi)
(viii) Write the functions of insulin and glucagon. -g‘::( {; Juit L u/(:g ) dgﬂl (viit)
10 3. Write short answers to any Five (5) questions : : ol AT 4 /‘"." L =y 5) ég & Jf -3
(1) Write two big functions of skeletal system in our body. -éﬂ/ f;'{;‘/.»ﬁ ; J‘?&é u.‘.'()z../h (i)
(i) Differentiate between compact bone and spongy bone. fe J/ l,;( P unﬁ, WIINOL .A-Q/ (i)
(iii) Define reproduction and name its two basic types. -&%t&(umg&m{m},té.yﬂ{ﬂ%/ (iii)
(iv) What is meant by alternation of generation? e sl Y < ﬁ 2 ST u%/”l' (iv)
(v) Differentiate between gene and allele. _5’:.: 3 Jgi s gE (V)
(vi) Write two main sources of variations. -"é ,./f é’/) o L .:Jj‘." (vi)
(vil) What is meant by Punnett square? Y. slp gf & CJ;/ K o (vii)
(viii) Define Mendel's law of independent assortment. _gé_ngM/1&};d}lJﬁU£Ji§ (viii)
10 4. Write short answers to any Five (5) questions : ol O 4 /‘”" L ey (5) ég & éf -4
(i) Differentiate between primary and secondary consumers. .2 35 J/,f’/'( Sk /’{ (i
(i) Write down examples of carnivores plants. -’&J ch‘, d/ u»{_’ )/»J/K (i)
(iii) what is green house effect? fe VT J3 u:f (iii)
(iv) Write symptoms of dengue fever. _&v =l d/ it :“5 (iv)
(v) Define fermentation. e - /‘7 d/ u"‘ef‘// (v)
(Vi) Who was Professor Scrimshaw? W s kY2 /,‘.":{ (Vi)
(Vi) What is pharmaceutical medicine? S sl y’ < 9 U‘L (vii)

(viil) Define vaccine. -Z’f u—?_J/.; d/ u.‘.’g; (viii)
( PART-1I (93 5> )

Note : Attempt any TWO questions. & =2 ety s o (jf rad
4 5. (a) Explain the functioning of kidney. _g{ =olos L/( J" e sl () .5

2,1,1,1 (b) Whatiis cartilage? Write about its three types. _’&Guﬁ;/l'.:i(l.}'cfd/&' ‘-‘;.l;( L5 (L)
4 6. (a) Describe peripheral nervous & Ju1 L f st (L:’" u( J! ~.§_:’/ Jk f‘"/ Jy/ J/%.’{ () .6

system and write its types with their functions.

2.3 (b) Explain process of budding in yeast with the help -éuy.c,mfﬂ,@u‘f{fzu:.a: Cad
of diagram.

4 7. (@) Whatis meant by ~SEULOWIE AL S Sl 2 s Sel e B8P, (L) J7
biotechnology? Describe the application of biotechnology in the field of medicine.

5 el BN L 1L S (o)) D (L)

(b) Write the name of sources of drugs and explain any three.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

During exercise or other physical works < C‘C X & d S J u’v“ ) L (K (}Lr" 2 APTIS -8 K I
breathing rate per minute increases up to :
> 50-60 minutes (D) & 40-50 minutes (C) >* 30-40 minutes (B) &# 20-30 minutes (A)
Water lily is an example of : - L2 Je J Jasg J/ J7 |2
Mesophytes u:' b < (D) Halophytes u:' /5)‘,7 (C) Xerophytes J‘" /51“/1 (B) Hydrophytes uf' /Gu,‘ﬂ (A)
It is the union of several axons : £ Ak = e o3
Node of Ranvier ss¢/ 3734 (D) Schwann cells )fu'i:” (C) Nerve s/ (B) Dendrites u‘%fq;ﬁ (A)
Elastic cartilage is found in : T bl L W J el L4
LA U2 B Epigiotts JEs (A)
Inter vertebral discs ffdﬁ‘/}/"l (D) Bronchial tubes %5 &4 ©)
Mint and chrysanthemum reproduce by : U Z./ cjy)‘g/;./ & &)’ u/ u’:imf yIl < 5
Suckers /’; (D) Stem tubers ).uff(fj’ (©) Corms /"J/ (B) Bulbs /L (A)
Part of testes provides nutrients to sperms : ‘ ] & &S (7!/ % S VIl Lf)"": 6
Seminal vesicles » *‘4:;}2/ (B) Collecting ducts jf;ﬂé‘ (A)
Cowper's glands /‘f.::g/‘{% (D) Prostate glands Jﬂﬁb}'{ (C)
Movement of genes from one population to another is called : : (‘_wﬂw: /".Jggd /»( /.?c_ﬁ'gg.,g 7
Mutations /’"'-;;‘ (D) Gene flow 5465 (C) ReCombination u%fo{ﬁ/ (B) Crossing over S (A)
Process of translation occurs in : ' L - Ly J’i ¥ uj:l'{/" 8
Ribosomes e rvils (B) Golgi apparatus U:JE/? ﬂf £ (A
Endoplasmic reticulum uﬁ,)/&JuCI},J,QJ (D) Nucleus - 5y (C)
Which one is main producer in aquatic ecosystem : e b u/ sy i £ £ (}T 9
Protozoans ‘/')J;;{ (D) Phytoplankton ‘JJ L6 (C) Bacteria | /:J:/‘ (B) Fungi JV (A)
The current level of urbanization in Pakistan is about : e k /’T Jod szv € Sk e uL‘.'J:L. 10
44 52 % (D) 43 42% (C) & 32% (B) «4522% (A)
In which year, human genome project was launched : : gf gf C}/“ ..‘,5?14 r,v.’." Sy Ju gf( 11
1990 (D) 1980 (C) 1970 (B) 1960 (A)
It effects on central nervous system and causes : < JJ/ I c;;id/ d/ '&?ﬂ /3 3/ i £ ,"‘/ o JA ~112
drowsiness :
Codeine u»’u‘/ (D) Psilocin /% - (C) Mescaline Jf!hi;r (B) Morphine u-é/L (A)
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10 2. Write short answers to any Five (5) questions : J A 4 /"Z = Uy (5) ét - Jf -2
(i) Define cellular respiration. &g u”ﬁ/ /’}’ (i)
(i) Differentiate between inspiration and expiration. 2.': g/ L iy sl g/ /dJl (i)
(iii) How do pleural membranes protect lungs? d/ =b@ d/ u:/ // er" (iii)
(iv) What is meant by thermoregulation? S slp L Y = ;f»"/ (iv)
(V) What is lithotripsy? . (i u’/f" (v)
(vi) Distinguish between dendrites and axons. -5 u/ o /l/(l 23 u’”’/,v; (vi)
(vii) Define reflex arc. -mé q{/’ J T el (vii)
(viii) Write the cause and two symptoms of hyperthyroidism. 2 @i ol 2 J ('M’U(jtn?/ { (viii)
10 3. Write short answers to any Five (5) questions : ol 1) 4 /"Zuﬂlr (5) ét 2 J/ -3
(1) write differences between compact bone and spongy bone. = (,7/ U/ o u:’Lfr IO 0]
(i) What is joint? Write its types. é ] d/ J! e lf ...wli (i)
(iii) Describe the process of parthenogenesis in honey bee. -é ul/f ¥ u’"':"vr"’ l u" d/ ,w’ (iii)
(iv) Differentiate between regeneration and binary fission. _é 3 A u) d/’L 2! u" =24 (iv)

(v) Differentiate between homozygous genotype "ad/v’/u" ../Ly"u».ﬁu\ A b sl s (V)
and heterozygous genotype.

(vi) Define monohybrid and dihybrid cross. LS vy S oS ,ud A1 ,t/dy/r (vi)

(vii) Differentiate between breeders and cultivars. e O/ U u’:@.\f st ik (Vi)

(viii) Write the sources of variations. _é /f dw = /’ (viii)

10 4. Write short answers to any FIVE (5) questions : Juwf’z..,uv (5) ét & éf -4

(i) Differentiate between population and cémmunity. -é u/ S dr{ ) u’J /L (i)

(ii) Define biosphere. &S /”gg (if)

(iii) Differentiate between primary and secondary consumers. _g‘f:/ 37 A J/,g‘/"/ SoaL m /’{ (iii)

(iv) What is meant by biological nitrogen fixation? fe olrk Y < s (s AL JQ}’IL (iv)

(v) Write the name of two enzymes used in genetic -é“tﬁ/’/’uLerJW’u*J/‘if
engineering.

(Vi) What is fermenter? : fe b Y (vi)
(vii) What is the difference between pharmacology and pharmacy? "c'_u/ Y Lf U6 sl G (vii)
(viii) What is the use of vaccines? Write example. é’g JV e JL’-’” U/ ¥ /C (viii)
( PART-II (» )
Note : Attempt any TWO questions. o Loty ne §f 0
1,21 - AL A S St S Y3 () -5
5. (a) What is the functional unit of kidney? Describe its struct.ure with Iabelled diagram.
5 ~Eeobdp i It S Lz L L JeSuEdun st (O
(b) Explain antagonism in muscle action with biceps and triceps as example. .
1,1,1,1 6. (a) Explain pituitary gland in detail. @l o L}:‘ﬂ £ p g2 () -6
1,1,2,1 _E e P L S e S Bkl (O
(b) Draw and label structure of a dicot seed and explain its different parts in detail.
4 7. (a) Write down four achievements of genetic engineering. & L6 b of /‘{l._.C? ) -7

5 (b) Write mode of action of vaccine. St (L/(K K«J‘j ()
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